g 2ol A x o] 2712 Fatolat,

L
o

N\
5.0ptCD 9] Y957} /CAD = /DBC = 15°
. ABPC ollA zx = 15° + 35° = 50°




2. o2 oA BD = 9 0 9 #Eo|1 A
/ABD = 32°, /ADC = 84° & ufj, zx 9
37|E FotH?

® 50° @ 52° ® 54°

@ 56° @58°

/BAD = 90° o|B &
LADB = 180° — (90° + 32°) = 58°




3. T 2™A 5.0ptBC = 5em |1, /ACD = 20° ./BPC = 65° <
o}, 5.0ptAD 2] ZAo]=?

14
@ 10cm @ 12cm ©) Jom
16 20
@ - om @ 5 om

AACP of|A] /CAB = 45° o]B2

~ ~~
(CAB : /ACD = 5.99t\BC : 5.0ptAD
45°:20° =5: 5.0ptAD

~ 92
.. 5.0ptAD = 9 cm




ofgf I A AABC = Y O of &5t
/BAC =64° ¥ 0, /«CBO 2] 3712

O 13° @26° ® 32°
@ 52° ® 56°

B

AOBC = o|5H4tZd
FHZL dF7to] 2 HjolB=Z,
/BOC =2x64° =128°

1
£LCBO = 5(180c> —128°) =26°




o= 3 o] gsel
20, 0ol 49 FHES A
g o, x 9 272

D 20° @ 45° 3)60°

A

2
\/

C

@ 100°

® 120°

B

VY
(ADC = 5.0ptAC ] YF7Zto|B 2
1
/ADC = 120° x 5 =60°

T3 &= o] HEol7] 2o
VY

/x T 5.0ptAC o YFZto 2

/ADC = /x = 60° ©|t}.




thS 1P| AB &= ¥ 0 9 A Eolt}
/BCD = 40° ¢ o, /ABD ¢] Z7]E 5}
H?

@ 40° @ 45° @500

@ 55° ® 60°

B

AB 7} AEolBR AC £ 1oH
(ACB =90°

" LACD =90°-40°=50°
/ABD = /ACD = 50°




7. T8 IYelX AC, PQE 90 9] 4801, BQ & /AQC 9] o5
HAoltt LAOP =56° & W, /PQB 2] A27|=7

@® 13° @ 14° ® 15° @ 16° ©) IV

~&B

AAOQ £ o] 5HAZIYo| B R /AQO = = x 56° = 28° o]t}

N | —

g, whef tid 957k AQC = 90° o1 BQ 9] ol 5]
B=s

/AQB = /AQO + /PQB

45° = 28° + /PQB

L /PQB =17°




g Tgel 4 AB £ ¢ 09l A
=
=) 5

N\
= 0];1\ .OptAC = 5.0ptCD =
5.0ptDB, PC = PD & o, /PCD 9] (

@ 60° @ 65° ® 70° @

1
. .CPD =30 (- «CPD = §ACOD)
T3 APCD+ o] HAZI ol B R

7}
1
£PCD = (180°=30°) x & =75° ojt.

/AOC = £COD = /DOB = a = 60° ©|t}.




o} 197 Zo AB & AEoR
5t AB = 14cm?;\% O of tist

- - N
o] AB// CD, 5.0ptCD = 5.0ptBD
o of, CD 9] Zo]&?

@ 5cm @ 6cm (@)70111 @ 8cm ® 10cm

& — \
5.0ptCD = 5.0ptDB,
AB//CD o2&

£COD = /DOB = x,

/CDO = /DOB = x (A7)

Wb ACOD £ AlZte] 2717t S 2o ne Fazgolr,
s CD =7cm




~ - N N
10. o2 Z3ofA 5.0ptAB : 5.0ptBC : 5.0ptCD : 5.0ptDA =6:4:5:
3 o, /BCD ©] 27]&7

@® 65° @ 70° ® 85° @)90° ® 96°

5.0pt24.88pt@ : 5.0pt]§5 : 5.0pt65 =9:4:50]2

2 /BOD = 360° x % = 180°

5 LC = %ZBOD = % x 180° = 90°




11. o= 2™l 2x o 2715 F5tof=t.

L
o

>
>

0
it

80 °

AR — \
5.0ptAB : 5.0ptCD = £APB : zCQD

4:1=/APB:10°

L(APB =40°

L /x=40°%x2=280°




12. o2 I8 40 9 AL, DO 9 =& 4, /ABC = 30°
olt}, o]uff, DE ¢] Zo]&?

A

\~2-"0 O/ ~--4---~

AD=BD =2+V3, BO=CO =4 o2& A E X AABC 9

FASA o]t
AACD oA CD = 27 o]t}

.~.ﬁ:zwx§:¥




13. o3 I"HAA 9
7~ VY N\
5.0ptAB = 5.0ptBC = 5.0ptCD ¢l
XU:‘ A’ B’ C’ D % Xl:‘]—j—, Zﬂ]/\\jAB
ot 214 CD ¢ S E 2 g
(E = 38° ¢« uj, LACD 9] I27|&
otoiet.

o

=
=i

>
> ®ehl 165 °

’—m/-\ N N\ N |
5.0ptAB, 5.0ptBC, 5.0ptCD, 5.0ptADg] ¥57+o] T2

3(38°+ x) +x = 180°,
114° +3x+x=180°
4x =66°

L x=165°




14. o5 IdI4 ® P = 5 @ AB, CD
o] WwHo]Al 5.0ptBC = 7cm, /ACD =
25°, /BPC = 65° ¢ o, o] ¥°] =9
Zolg Fatelet.

>
[> HE: 315 cm

~&B

AACli_O\ﬂk] /CAB =65°—-25°=40°

5.0ptBC2] YF7to] 40°0| B2 FA] 72 gp o]t}

80°:360° = 7: (4F)

aimn 360°x7
L (EF) = —80°

®©

= 31.5 (cm)




15.

g 1 F P =Y 0 9 F
A AB, CD 9 dx4e] wgolrt
(AOC = 72°, /BOD = 24° ¢ ©f,
/BPD 9] 37|19

® 20° @ 22° ® 23° @ 24° ® 25°

~&B

AABC:%X72°:36°, ABCD:%XM": 12°

/ABC = /BCP + /BPCo|B =2
36°=12°+ /BPC
. (BPC =24°




